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Test Prep 1

This test prep includes the two problems below. You get 10 minutes. If you complete the front and
have more time, you can get one extra point by correctly doing the integration by parts on the back of
this page.

1. A town currently has 2100 people The birth/death rate is proportional to the population size with
a relative growth rate of k = 0.03. In addition, 100 people/year are immigrating into the city from
elsewhere. Let P(t) be the number of people in the city in ¢ years from now. Give the differential
equation and initial condition for this situation (Do NOT solve, just write equations).
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2. Find the numbers A, B, and C that make the following true for all valid values of z

2 6 A B C ]
+ i g 2 ,
o a (K 3 { z*(z + 3) $+$2+.’L‘+3

Then integrate:
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Optional Extra Credit (1 pt): Evaluate / 22 In(z) dz SU\A‘J =uy - S N, d “u
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